Assignment/LISREL exercise Tuesday 12/4 15.00 – 17.45 (GK)

Part I

a) Use the dataset in the PSF-file: Case-Gra6020S-2004.psf   

i) Start with a data screening (N=533)

ii) Do an exploratory factor analysis and try to find a suitable factor structure

iii) Based on ii), estimate and test the CFA-model. It could be a good idea to try several estimators. Comment on your findings.

b) In a study to determine the predictors of drinking and driving behavior among 18-to 24-years-old males, the following model was proposed (N=356):
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Intentions to drink and drive (
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Drinking and driving behavior (
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Attitude toward drinking and driving (
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Social norms pertaining to drinking and driving (
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Use the covariance matrix to estimate the parameters of the structural model. Comment on the model fit.

The covariance matrix is to be found in the file: Drinkd.cov. Here you will find a matrix of 12 variables listed in the following order 
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. I.e., there are four y-variables and eight x-variables, and the y-variables are listed first in the covariance matrix.

Part II

Discuss the Political Efficacy assignment from week13/14:

Assignment week 13/14

Political Efficacy

Campel et al. (1954): Political Efficacy is the feeling that individual political action does have, or can have, an impact upon political process.

Observed (measured) variables:


NOSAY: People like me have “no say” in what the government does

VOTING: Voting is the only way that people like me can have “any say” about how 

the government runs things.

COMPLEX: Sometimes politics and government seem so complicated that a person like me cannot really understand what is going on

NOCARE: I don’t think that public officials care much about what people like me think

TOUCH: Generally speaking, those we elect to Parliament lose touch with people pretty quickly

INTEREST: Parties are only interested in people’s votes but not in their opinions

1 = Strongly agree, 2 = Agree, 3 = Disagree, 4 = Disagree strongly, 8 = Don’t know and 9 = No answer.

Table 1: Two models

Model 1


Model 2
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Use the data set in the file: Efficacy2005.psf

Do a data screening and estimate the models given in table 1
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